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[Time: 2 Hours]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. All questions carry equal marks.

Enumerate the various constituents of the Indian Financial system in detail.
OR
a) Examine the promotional role functions of the Reserve Bank of India.
b) Explain the scope of financial services with regards to fund based services.

a) Enumerate in detail the functions of a Stock Exchange.

b) Examine the various types of debentures issued by Indian Corporates.
OR

a) Distinguish between money market vs capital market.

b) Define Dematerilization and discuss the benefits and disadvantages of dematerialization.

a) Explain the International Fund raising options.
b) Distinguish between future vs and options.
OR
a) Discuss the Regulatory framework of the Indian Money Market.
b) Discuss the different participants of the derivative market.

Write short notes on (any three)
a) Non-Banking Financial corporations
b) Fund based financial services
c) Options
d) Call money market
e) Financial regulation theory.

OR
Fill in the blanks.
1) is a way of reducing potential financial loss.
2) Index of BSE is called as
3) capital is raised by issue of shares.
4) bonds are bonds with no coupon payments.

5) The rate at which money is made available in the call money market is called

6) The regulator of the Financial Markets is .

7) works with the objective to acquire controlling interest in foreign entity.
8) are financial institutions which mobilise savings of small scale.
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Q.P. Code : 28290

Q.4 B) State True or False:
1) Fund based and Non fund based are financial services.
2) Equity holder is the creditors of the company.
3) Bills expect the price to fall.
4) T.Bills are capital market instruments
5) Sweat Equity shares are issued to directors and employees at a discount.
6) Bonus shares are issued to existing shareholders at a discount.
7) LIC is an example of a NBFC.
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